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Tree Protection / Replacement Data Table =S FS 88
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Total Site Acreage (Section 2) 29.37 o2 - ;{)
Tree Units Required @ 5 units per acre | 146.8 = ;J .
ok :
&) £
w 5
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Saved Tree Sizes Quantity Units Per Tree Total Units Per Tree Size E E(‘ .
.
12 37 1.8 66.6 < < b 5
n Qo
14 25 2.1 52.5 z 9 “:,.J%E@
16" 9 2.4 21.6 Y=} %gégé
n zZ Z oz N
20" 5 3.2 16 I Zoaz e
22" 1 3.6 3.6
24" 1 4.1 4.1
26" 1 4.7 4.7
28" 0 53 0
30" 0 5.9 0
32" 1 6.6 6.6
34" 0 7.3 0
36" 0 8.1 0
Total Trees to be Saved 85
Total Units From Trees to Remain 189.7
Trees Proposed Quantity | Units Per Tree Size \& J
Street Trees @ 3" 0.5 0 % \
Buffer Yard Trees @ 2" 0.5 0
Buffer Yard Trees @ 3" 0.5 0
Total New Trees Proposed 0
Total Units From Trees Proposed 0
Total Units From All Trees 189.7 2
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Know what's below. s 12| =1 .
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